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565 — 5% 4y + 3(7x3 — 5x)

dx + 6x° + 6x — 9x° — 5x”

3x% — 2x+ 3(6x° — 6x%) + 6x°

ox> — 9x% — 4(8)62 + 9x) — X

S0 — 4y’ — dx - 2(6x — 6x2)

Suti: ATULUL:

2 + 5% + 2(3x3 + Tx) — 6x°

42 = 9) + 7 + 2 — &7

3x+ Tx— 3(8x2 - 7x3) — 6

4(7x3 + 8x3) + 20 + T — 4y

Ox — 2x% — 2(8x3 + 7x3) —7x?
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LAatdl

%ia:

5 — 50 + 4% + 3(7x3 — 5x)
30x° — 5¢ — 15x

dx + 6x° + 6x — 9 — 5x2
—8x% + 10x

3x% = 20+ 3(6x° — 6x%) + 6x°
24x° — 152 — 2x

0 — 9x? — 4(8x% + 9x) — x°
9%> — 427 — 36x

5 — 4 — 4y — 2(6x — 6x2)
X+ 1222 — 16x

[

UN:

2+ 5 + 2(3x3 + 7x) — 6x°>
7 + 14x

4(2x3 — 9x3) + 70 + 2% — X2

21 + x?

3x+ Tx— 3(8x2 — 7x3) — 6x°
15x° — 242 + 10x

M3+ 83) + 20 + Ta? — 4x
58x° + 7

Ox— 2% — 2(8x3 + 7x3) — 7x?
—30x° — 9% + 9x
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